&
-:'.; ‘Which one of the following statements about
- X-raysis not true ?
- (a) They have wavelengths of about 1 A,
) (b)  These can be generated by bombarding a
metal target by high energy electrons,
{e) Due to their wavelengths being shorter,

these can be used for radar systems.

These are also used for the treatment of
certain forms of cancer.,

e Which one among the following is the
srthernmost geographical location ?

' "rElii'l New Delhi
~ (b) Kathmandu
(¢) Thimphu

Dhaka

Distance  between the longitudes
becomes zero on North Pole and South

Pole.

9. Distance between the longitudes is
maximum on the Equator,
’ 3~ Number of longitudes is more than

number of latitudes.

~ Which of the statements given above isfars

() Zonly
{ﬁ} 1 and 3 only
@ 1,2and3

o b

PART - B

54. Which one among the following states is the

leading producer of Manganese in India ?

(a) Madhya Pradesh
(b)  Jharkhand

(¢) Rajasthan

id)  Karnataka

Mica is mainly used in :

(a) food and beverage industry.

(b)  iron and steel industry.

{¢) aluminiom industry.

{dd electrical and electronic industries.

According to Koppen's climatic classifications,
the Great Northern Plains of India have which
one of the following climates 7

fa)  Aw climate
(b) Cwg chimate
(¢)  Amw climate
(d) Dfe climate

55('/ Which of the following statements about
Lachit Borphukan ig/are correct ?

1. He was a General of the Ahom Force.

2.  He is known for his leadership in the
Battle of Saraighat.

3.  Lachit Borphukan Gold Medal is given
to the best cadet at the National Defence
Academy.

Select the correct answer using the code given
below :

Aar”™ 1,2and 3
(b) 2and 3only
(e} lonly
(d) 2only

B)



- 2
¥ 2

o between the Indinn Army and the
ﬁ ekistan Army was held in ;

(#) Ranikhet

(3 Gangtok

(e) Pithoragarh

,;p._é Leh

--,|'.£""I|I|

5o, Wi of the following is Indin's first privately
i: developed rocket launched by 1SRO recently ?

Skyroot

Prarambh

Bazoomag

e e

.'=,., ch one among the following villages was
recently declared as India’s first 24 % 7
1m=puwered village ?

‘Mawlynnong, Meghalaya

(b Modhera, Gujarat

() Zirovillage, Arunachal Pradesh
(d) Malana, Himachal Pradesh

mhx of which one of the following States

was adjudged the best in the Republic Day

 Parade, 2023 ?

."1-1_-.' th _
% o 3111!! ‘ edition of joint military esercise |62 Organisms capable of using CO; as principal

carbon source are called :
(a)  Autotrophs

(h)  Heterotrophs

(e) Parnsites

(d) Decomposers

When yeast cells are Oy starved, fermentation

serves as the source of energy. This results in
the production of :

(@ ATP 4+ €O, + Ethanol
(b) ATP +0y+ Pyruvate
(e} ATP +COy+ Lactic acid

(d) ATP+ 0, + Acetaldehyde

During a laboratory experiment, a student
immerses epidermal leaf peel in a hypertonic
solution. After some time, the student
examined the cells under a microscope and
observed that :

(a) the cells swelled.

(h) the cells were plasmalysed.

(¢) the cells built up turker pressure.

(d)  the cells size wis unaffectad.

(13-8B)



one of th ing i o
: | e following is not a|@8] Which one of the following is the correct

—n

b Leris ic featu
GHBERLSS re of fungi ? arrangement of metals in the decreasing order

,,Liﬁ_:g ‘Gﬁllwull is made of chitin of their reactivity ?

u’;q't Fi!amentnus myeelium is present (a)  Iron, Sodium, Silver, Copper
'f_‘i - : Gan carry out photosynthesis (b) Silver, Copper, Iron, Sodium
.* mﬂl spores are produced ¢} Sodium, Copper, Silver, Iron

Y|
(dr Sodium, Iron, Copper, Silver

W ich one of the following statements about

ykas 18 Ok correck ¢ 69. Which among the following statements is nof
’T.-f_*_' ' The plant body is a gam oA correct with respect to allotropes of Carbon ?

-:'f--:u.., are also called the amphibians of

!plnntkmgﬂum

(¢) The plant body is attached 1o the

 cubstratum by rhizoids.

b

(h) Diamond is the hardest substance
known.

water-conducting tissues are (¢) Fullerene is one of the allotropes of

i
k) carbon.
{d¥y~ Next to diamond, graphite is the second
s known substance.
specific  purpose of using hardest '
hydroxide durng the saponification
70, Which ameng the following is the popular

method fqr=manufa§=lure-pf ammania ?

B o1 soaps which are hard 60 602

g slan. (a)

.":-
L e ik are soft o the )

Ostwald’s pt‘nﬁéﬁﬂ

(6) Toobtain natural fragrents (c) Electric furnsce process
@ To make the saponification Ve () Electrolysis process
(16-8)




identical i
P Two i spring balances 5y and 8, are
connected one after the other and are held

vertically as shown in the figure. A mass
10 kglﬂ hanging from S,. If the readings on
and S; are W, and W, respectively, then :

S5y —+ W,
i Bl k= W
i
10 kg
(@ W;=5kgand Wy=10kg
(b)) W;=10kg and Wy=5kg
!_E]' Wl=5kg and WE—;ﬁkg
w;‘f{*d} W;=10kg and W, =10ke

s

L a 20 m high building with a speed
12 m/s. Tt hits the ground
the building. Taking £

ing air resistance will give :

’;‘:ﬁ’l: R=12m

'ﬂﬂ- R=1Bm
¢ R=24m
(dy R=30m

@:,Aamum is thrown horizontally from the top of

at a distance R from
- 10 m/s? and

of
Egl

4.

of

(17 -8B

A sphere of volume V is made of a material
with lower density than water. While on
Earth, it floats on water with its volume
f;V (f; < 1) submerged. On the other hand, on
a spaceship accelerating with acceleration
n < g (g is the acceleration due to gravity on
Earth) in outer space, its submerged volume
in water is V. Then :

Et’“ 1'1 = ['l
B fp=(1-=)f
) g 1
@ {H& :’.[I
(@ fy= =
i
Two identical containers X and Y are

connected at the bottom by a thin tube of
negligible volume, The tube has a valve in it,
as shown in the figure. Initially container X
has a liquid filled up to height h in it and
container ¥ is empty. When the valve is
opened, both containers have equal amount of
liquid in equilibrium. If the initial (before the
valve is opened) potential energy of the liguid
is P; and the final potential energy is
then :

— )

— - —
= i =
— e ==
= e -
—
o e =
—
o -
—
——

—
— i -
—

— =
— e =]

Tyt
Iphtgtylyt

| o

— i —
e

(@) Py=PFs

(b) Py=4P;
(e} Py=2P;
(d) Py=8F



r moving 1n a crcle of radius B In terms of Eﬁﬂlﬂslﬂll time  eals; the

- & constant speed v, |
= s o ta “u“msu
= ation over the time when it moves aver mmjﬂﬁﬂd consists of twa epachs, They

(a) Pleistocene and Pliocene
(b) Holocene and Pleistocenc
(¢) Pleistocene and Miocgne
(d} Holocene and Eocene

80. Which one of the following is the correct

sequence of arrangement of the given planets

in dmmnding order of their density (i

gm/em”) ?

(a0 Earth> Jupiter > Venus > Saturn

the n&t force acting on the point maas th) Jupiter = Earth > Saturn > Venus
'tuﬂ.e close to : (¢) Earth>Venus>d upiter > Saturn

' (@) Earth > Venus > Saturn > Jupiter

81. Which one of the following is not & cold
current 7
{al Western Australian Current
(b Eaﬂtm&ustmﬂan{}urmnt
(e}  Benguela Current
(d) Peru Current

82, The process of Podsplization is predominantly

of the following statements is/are found in :
(a) Equatorial forest

the surface of _
thﬂEanh nﬂtﬁtﬁnﬁm (b Monsoon forest
2. Velocity of earthquake waves i higher (¢) Taigs forest
ol inﬁanam'matum]m . i Hediﬂrrmmm
;P wayes move faster and are the first to
- arrive at the surface of the Earth. ia doim A S
: ect the correct answer using the code given o Aocted M‘“”'“iﬁ"

(a) India and Japan

(b Indis and USA
o USA and Japan

(d) Japan and Taiwan

(19-B)



., he Battle of Rezang La, an epic battle in
hosti flmnﬂihnns was fought by the Indian

fer the f!ﬂ]lﬂw"fms statements  about

1. : Iﬂmmhmhdluspmpamdnm
" inthedummnufl\lmhmeam:mtyanﬂ
; mastnldeﬁmue

ﬁavnl forces ufUE& and Japan also took

d as the P!a}ar of the Series in

above isfare

87. Who among the following is not a recipient of

Nobel Prize in Chemistry in 2022 7
(a) Carolyn R, Bertozziv”

1]
(e)
(d)

Benjamin List
Mortén Meldal~
K. Barry Sharpless

Consider the following statemente regarding
cell wall composition :
J¢~ Bacterial cell
peptidoglycan,
Fungal cell wall is made of cellulose.
Animals lack cell wall and have
extracellular matrix made up of sugar
and proteins.

Splect the correct answer using the code given
below :

(a) 2only

(b} 1and2only

{er™ 1and 3 only

(d) 1,2and3

wall i8 made of

2.

s

Which one of the following structures is not

present in @ prokaryotic cell 7

(al Cell wall

(h) Ribosomes

(e) Nucleus

() Plasma membrane

In a plant coll, which one of the following
ntmnﬁthm:mBNA"

(a) Nucleusand Endoplasmic Reticulum
(b) Ribosome and Golgi apparatus
(;\/'ﬁ’el_:ﬂ-uh-mﬂrlq and Chloroplast

d) Chloroplast and Vacuoles

(21-B)




'U_'fl'ﬂlﬁﬂn Army is situnted at
Dehradun

i occurs in & region

exceeds

ot answer using the code given

Junter Insurgency and Jungle Warfare

the soil-forming regime, which one of the

precipitation

5.

where

3

(23-8B)

fd)

Which one of the following is the
lowermodt/innermost intrusive igneous rock ?

tu)  Laccolith

(" Bathalith

(¢) Lopolith

Phacolith

If it is 12 noon in New Delhi, what will be the
time in London, UK 9

(3 6:30 AM.

(b)  6:30 P.M.
(e) 5:30 AM.
(d) 5:30 P.M.

Which of the 1'm:rlwtng1:1s:ua:iti;:mm_.»:.-,ﬁ,éﬁ_a.m_1 Earth
and Moon isfare suitable for Spring Tide ?

1.  SYZYGY Conjunction

2. SYZYGY Opposition

3. Quadrature

Select the correct answer using the code given
below ©

{a) lonly
(b) 2only
(o 1andZ
(@) laondid



Wmnm artist painted The Last|102, Plan allocation in agriculture and irrigation s
percentage of total plan outlay was highest in :
(n)  Seventh Five-Year Plan
(b} Third Five-Year Plan
(r”  First Five-Year FPlan

(d)  Second Five-Year Flan

103. The UN COP-27 Summit relates to :
(a) Russia-Ukraine war

(b} T&nﬂnsmm:nﬂntbfv'hmﬁm
ey~ Climate change

1 one of the following cities in India
tues of Kushana rulers heen (d) Interpol

| b) R - @\ Which one of the following tribes from Indiz’s
. North-East had the earliest known association
with cultivation and production of tea ?

(a) Khasis
Ef"fanﬂﬂbﬂ was m:_ldf.lﬂﬂd as part ) o
of the following wars ° |
Mﬂ_gmm War (¢) Singphos
Anglo-Burmese War @ Joy antins

(26-8)



A one. of the following amendments,
icle e 51A, relating to the Fundamental
. ;Ina._qrtl!ﬂ mto the Constitution of

Emmtltuhnn (42" Amendment) Act

_Iﬂanntitﬂtiun (44" Amendment) Act
by e Constitution (85™ Amendment) Act

‘he Constitution (92" Amendment) Act
mnf the following statements is

g)  The force of gravity of the Barth on the
* Moon is greater than the force of gravity
. ﬁﬁ'ﬂ:ﬁ-l!ﬁm on the Earth. '

(b} ’_‘I'hafhrm of gravity of the Moon on the
: 1is greater than the force of gravity

, 'i-tham on the Moon,
wl  The force of gravity of the Earth on the
on and of the Moon on the Earth are
al in magnitude and are in the same

d) : he force. ufgrawty of the Earth on the
on and of the Moon on the Earth are
1in ma‘.gnit_ude.hut are in opposite

990 V and B0 W.

iric bulb is rated as .
the FDWH raling

1

108, In the dispersion of white light by a common

alass prism, which one among the following is
correct 7

{a) Red light doviates the most because red
fight has highest speed in prism

(b) Blue light deviates the most because
blue light has highest speed in prism

(¢) Red light deviates the most because red
Tight has lowest speed in prism

(d) Blue light deviates the most because
blue ththaslm#mtmdmpnm

09. Which one among the following is true for the

speed of gound in a given medium 7
_{a) Speed of sound remains same at all
frequencies

Speed of sound is faster at higher
frequencies

(h)

EpBEd. of sound is slower at higher
frequencies
Speed of sound is slower at higher
wavelengths

el

(d)

110, Which one of the following telescopes contains

anly mirrors ?

(a) Galilean telescope

(b  HKeplerian telescope

(@) Newtonian telescape

(d)  Schmidt telescope

(27-B)




WP“"‘““&““ s that it helpasseies to 115. Which une.al" the following apparatus is used
ive over long evolutionary time. This is for separating benzene and water mixture 7.

".H_alllﬂ reproduction produces : (a) Round bottom flask

'.l;lilﬂ offspring in each reproductive (b} Conieal flask
cle.

) st and healthy offspring.

(9)  Separating funnel
(d) Dean and Star :
Stdlee ASEring and Stark apparatus

116. An iron nail dipped in copper sulphate
o solution turns brown. This is due to which one
one of the following structures or of the following types of Tﬂﬂ‘-hﬂﬂi"

onents is nof always present in living {a) Addition reaction
(b) Decomposition reaction
(c) Substitution reaction

(d) Displacement reaction

117" Among the following, which is not the correct
method for keeping the curd ?

{a) Keepingin stainless steel vessel
(b) Keepingin copper vessel
(¢} Keepingin plastic vessel
& Jemon juice. (d) Keepingin glass vessel
118. Toothpaste prevents tooth decay by

- : Hmnggd as
oh of the hydrocarbons B : (@) neutralizing the excess acidity.

- (b) ~means of emulsification.
Py tane _
Methane, Butane, Propan® 3 (@) theaction af fluoride.
Octane
ne, Butane, Pentane, @ making 8 cout of calcium over the teeth
e
Butane, Heptane Meth surface.
Ethane, Methal® Propen®



ﬁﬂlii-‘-l‘ Kanaklata Barua was|128, Which one of the following kingdoms was
founded by the two brothers Harihar and
Muti Bukka ? |
- o Movasan, {br Vijayanagara
iy : ) (¢l Malwa
at Uprising of 1893 — 1894 ) Maratha

the Mansabdari system is carrect ?

~ basis of ancestry.

. one among the following statements

/¢) Position and salary of mansabdars were
: indm&taﬂ by & numerical designation

124. At which one of the following places did the
Danes establish their settlement in India ?

L A]I army troopers Were allotted (a) Eh]mn
~ mansabs. (b) Karaikel
() Mansabs were usually assigned on the (o) Mabs

(d} Tranguebar

125. A rectangle ABCD is kept in front of a concave
mirror of focal length wﬂ.h-ig corners A and

il e _ il B boing, respectively, at distances 2 and 3f
(d) Mansabdars were never paid in eash. from the mirror with AB along the principal
' axis as shown in the figure. It forms an image
. ¢ esigal underwent ABCD' in front of the mirror. What is the
Governor General ln“ﬂ“th o ratio of B'C to AD' 2
A : ]
Euhert Clive D o
— ..
- Warren Hasting® Y
Lord Cornwallis X 2 ™
nmnnﬂ the following composed  (h¢
O cashasti’of Samudragupte ! ke
) 2
- @
Chand Bardsi :
: 2
e} ?iﬁmkh&ﬂnﬂl @ 3

[31—31




& light ray falling on one of the
ﬂ- reflected back parallel to its

128. Which one of the following statements is not
trite for a flute, a musical instrument ?

(a) Momentum of waves on the blowing jet
determines the loudness of the producad
note.

(b} Arrival time of the waves on the blowing
jet determines the pitach of the produced

mole,

(¢} Sound comes from a vibrating column of

air inside the flute.

(d) Sound comes from a vibrating column of

air inside as well as outside the flute.

129, A positive charge is moving towards south in a

space where magnetic field is pointing in the

north direction. The moving charge will
experience
() a deflecting force towards north
direction.
top) of mass M, (b a deflecting force Wmﬁ.‘ng&;ﬂrﬂnﬁm.
ong f a.t?'m[;hl (c) adaﬂuﬁngfummudswmdﬁnmnn.
after some Hme " T
go that the {d) no deflecting force,
and Elil-“f‘*'j
tu 'Iﬂ fﬂuing
inside the _ ; ,
Lo Ep.wdu vi| 130. Which one of t_!;q-mﬂp'it"ing i mol a man
gﬂaﬁﬁmﬂﬂ_ﬂﬂl’?'
(a) Water vapous
(b} Oxygen
() Carbon dioxide
pu‘- Methane




'ﬁgamuﬂwtnnng of glass, which among the
wing is used as a source of silica 7

%&J Fine clay soil
ﬂ‘} ‘Wood powder
(¢) Coconut shell
@ Sand

Eiﬁhinh among the following is the correct
~ arrangement of halogens in the increasing

-ﬁrﬂ“" of their oxidizing nature ?
(a) F,ClLBrl
CLBr.F,1
Br,I,CLF
IBr,CLF

jpper sulphate crystals available in the
ket are blue coloured erystals. By careful
ng ﬂ'lr&'_? turn to white colour. Which one
the following is responsible for the blue
o

136. Airbags work on the principle of a chemical
renction triggered by the impaet producing a
gaseous product that causes a sudden volume
change. Which one among the following
chemical conversions is responsible for this 7

{a) Sodium azide into nitrogen gas

(b)  Solid earbon dioxide into gaseous carbon
dioxide

(e} Carbon dioxide into carbon monoxide

(d) Sudden conversion of gaseous carbon

dioxide into carbon monoxide

Which one among the following districts of
Eastern India held a referendum in 1947 to
decide whether or not to join Pakistan ?

136.

(a) Sylhet

(h) Goalpara
(¢) Cachar
(d) Jalpaiguri

Which one of the following statements about
Rabatak inscription is nof correct 7

137.

[t throws important light on Kushana

()
1e of all gases, when measured at genealogy.
ture d pressure, contain | |
bﬂﬂuf pa::iﬁl:; Who propos () It refers to Kanishka as ‘a king of kmngs
11T Tr ]
and o son of God'.
AN
«i 4 é (¢) The 23-line inscription is written in
= sandhari language.
() It mentions nAMES of States which were

part of Kanishka's empire.

(35-8)



the  fol) OWing  wag

v the
Bous  Sungkrit '

wirl

7 hovarman was ruler of which one of the

wing kingdoms ?

-

d&a -~ among the following rulers

a ﬁhiéﬂ Pataliputra as the capital of the
han Empire ?

v i

B Bitanars

ch l:lB of the ﬁﬂ_lﬁwmg'astrnnnmers proved
 Earth and other planets revolve
d the Sun ?

142, Band falls vertically on a conveyor belt at o
rate of 0:1 kgs, In order to keop the belt
moving at a uniform speed of 2 m/fs, the
foree required to be applicd on the belt is

(@) ON

(b) 02N
le)  LON
(d) 20N

143. The power required to lift 8 mass of 80 kg up
a vertical distance of 4m in 25 is (taking
acceleration due to gravity as 10 m/s®) ;-

(a) BOW

(by 160 W
(€} 320W
(d) 640 W

144. One block of 2-0 kg mass is placed on top of
another block of 3:0 kg mass. The coefficient of
static friction between the two blocks is
0:2. The bottom block is pulled with a
horizontal force F such that both the blocks
move together without slipping. Taking
aeceleration due to gravity as 10 ma‘a:"'. the
maximum value of the frictional force is:

{a) BON
by 30N
(e) 4N
(d) 10N

(37-8)



e

is attached to a sprip
* g that hﬁnﬂ 148, P T | ;
hh The extension Produced in tre What is the total resistance in the following

g on Earth, The acceleration dye cureuit Eflmmnt'i;t
un the surface of the Mogn " | _
o “I."E on the surface of the — N —VWAWAA—
th, - The extension of the S ot iy N
would be : —JW—FR
(n) R/2
(b} 3R
() am/2
) 2Rf3

149. Which of the following schemeisi isfure

included under Bharatmala Pariyojana ?
1 one of the following 15 an example of - W LR iy
Class Lever ? 1.  Develop the road eonnectivity to borider
Areas
‘A pair of scissors 9 ngglqmm:urmsmlmmds
- 3. Tmprovement in the efficiency of
B e ‘National Corridors
A cricket bat Select the correct answer using the code given
below :
A bow and arrow
¥ 55;' 1 only
(b} 3only
W7 tn an electric circuit, a wire of resistance 108} () 3 and Fonly
ek .l"-]f this Wire ia!ﬂ'ﬂtﬂhﬂi tﬂﬂ. IE'IIEﬂl fﬂl 1' Eﬂ.llds
| ginal value, the current in the
gircuit would become 150, Deendayal Port was earlior known as:
(a) half of its original value. (a) Paradip Port
(b) double of its original value: (b) Tuticorin Port
-- e argraalyaine o Kandla Port
one-fourth '

(dy Visakhapatnam Fort

(38-8)



